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COMMON EXAM Iil - VERSION A
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DIRECTIONS:

1. The use of a calculator, laptop or computer is prohibited.

9. In Part 1 (Problems 1-15), mark the correct choice on your ScanTron using a No. 2 pencil. For your own records,

also record your cheices on your exam/

3. Tn Part 2 (Problems 16-20), present your solutions in the space provided. Show all your work neatly and concisely
and clearly indicate your final answer. You will be graded not merely on the final answer, but also on the quality

and correctness of the work leading up to it.

4. Be sure to write your name, section number and wersion letter of the exam on the SeanTron form.
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Signature:

DO NOT WRITE BELOW!

Question Points Awarded Points

1-15 80
18 9 . ‘
17 | | 9
18 10
14 6
20 6

100




PART I: Multiple Choice: 4 points each
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4. What is the interval and radius of convergence of the series
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7. Find the third degree Taylor polynomial for f(z) = /= about a = 4.
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9. Describe the surface in three dimensional space: z* +-y% = 9.

(a) Parabola
(c) Circle
(d} Hyperbola
{g) Sphere

Cylinder centered around the # axis with radius 3
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13. Find all value(s) of p for which the series E converges.
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Directions: Present your solutions in the space provided. Sho
finol answer. You will be graded not merely on the final answer,

leading up to it.

18. (9 pts) Find the interval and radius of convergence of the series b o

COnVergence.
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17. (9 pts) Find a power series representation for f(z) = (Q.TI)E What is the associated radius of convergence?
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18. Consider the series S = ————r.
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19. (6 pts) Find the Tayor series for f(z) = €3 about a = 2 (that is, centered at 2).
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